NCON

l\
y AN GHTI

12160-P T-BAR INSTALL INSTRUCTIONS

WARNING: disconnect main power af the source prior to installation!
Only qualified electricians should install Alcon Lighting products.

Fixture may be mounted directly to T-bar grid with T-bar grid clips
(by others), using a 1/4-20 stud. Both feed and nonfeed suspension
points mount to same type of 1/4-20 stud clips. (See following page
for mounting between T-bar grid.)

O Tobar studs with 1/4-20 thread
(by others) must be purchased and

Max. Wiring Distance (at full load)

clipped directly to 9/16” wide T-bar. | Wire Size (AWG) | Distance (ft.)

Add support wire or chain,

as required by code. 18 18

@ Attach canopy back plate to 1/4-20 16 i

stud with hex nut. Make notch 14 46

in ceiling and attach conduit from ” 1
driver box to back plate with

lock nuts. 10 120

© Dass lamp cord through canopy and
conduit. Attach canopy to 1/4-20 stud with cable gripper.
Stud should not extend into gripper more than 5/167,
or adjustability will be lost.

O Tist off end of gripper and insert AC cable. Pass cable through
gripp g
gripper body and out side exit hole. Screw gripper into place.
Adjust length and snip off excess, leaving 1” of cable out exit hole.

© Mount driver box to T-bar with bar hangers and attach with wire
(or after market T-bar clips). Pull knob to remove box cover,
adjust cord length, and cut and strip ends for insertion into driver.

e

from driver

14 q 4 N q 4
ST SR S

21 2 Ra'r 24y 9 9
. 4 Dr d Dr 4 Dr d

Cut hole in tile

for conduit
Canopy back

plate

Hex nut

(4]

R Q—VAMDQ—VAMJQQ—IM
1> v<1 D4 >

Gripper body

Gripperend ——

recessed driver

(1] SUPPORT
WIRE*

CEILING
GRID CLIP
(by others)

6 BACK PLATE

% Support wire or chain,

LAMP CORD
as required by code

GRIPPER

AL IO IO N
4 > b{ < b{ b{
»°24r<;°24r<)°24r<;°24r<;°2
D’ D’ Y, Dr

3]

Lamp cord

| an

Cable gripper

Canopy

(5 Box cover knobﬁ
I W’H Driver

Lamp cord

Bar hanger Driver box ]

NI P & A =T T ST ST ST ST ST a,ﬂ‘ 4,.QA4,.QA4,.q
(, (, 3 q ie—“ \>¢,q S2L >¢,q LN »g,q N‘_q ><‘_q ><‘_ Q, (vq ><,
Rar R ‘71414‘71 Ra'r 4

Ru'r

AlconLighting.com © 2021 m (877) 733-5236 m products@alconlighting.com

Rev. 12/23/21 1/2



1\ N CO
Am\ L I cHTING
12160-P T-BAR INSTALL INSTRUCTIONS % recessed driver é

WARNING: disconnect main power af the source prior to installation!
Only qualified electricians should install AlconLighting products.

3.125"
Fixture may be mounted off a T-bar grid with additional support such ' diameter

as ceiling mounted rods or T-grid box hangers (by others), using a canopy
1/4-20 stud. Both feed end and non-feed end will mount to the same I |
1/4-20 stud hardware. (See previous page for grid mounting in a T- == -
bar ceiling.)
O ror mounting feed or non-feed. Max. Wiring Distance (at full load) (1) Caddy #512HD
Posmon. 1/4-20 studs from ceiling — - S Unpotwirelorehai T-Grid Box Hanger
or T-Grid box hanger (by others), Wire Size (AWG) | Distance (ft.) . by oth
to match fixture cable spacing. 18 18 as required by code (by others)
Attach cable gripper for non-feed
end to stud. Be sure to allow no more 16 29 %
than 5/16” of stud into gripper body 14 46 Additional Ceiling :
® On feed end, attach canopy back 12 71 Support Wires*
plate to 1/4-20 stud with hex nut.
Make hole in ceiling and attach 10 120

conduit from ballast box to back
plate with lock nuts.
1/4 -20Threaded rod

© Dass lamp cord through canopy and conduit. Attach canopy to 1/4-20
(by others)

stud with cable gripper. Stud should not extend into gripper more than
5/16”, or adjustability will be lost.

O Twist off end of gripper and insert AC cable, pass cable through
gripper body and out side exit hole. Screw gripper into place.
Adjust length and snip off excess, leaving 1” of cable out of exit hole.

© Mount driver box to T-bar with bar hangers and attach with wire or
after market Tee bar clips. Pull knob to remove box cover, adjust cord
length, cut and strip ends for insertion into driver.

12 1/4 20 rod \g from driver
(supported by others) £ box ©
VA):/; ‘VA):/; q 4 ):/\; NA):JE e 4 . Lamp cord
1> - e d \ 4By B c
N AL AL IR N = Ra'r 2R, EIeRY)
= . T = 7d, =74 RN =
= Cut hole in tile 4 Cgd (gl Cgd vl &
= . DA DY By DY by
for conduit ROV RN R N R IN B2 VN
Canopy back I
plate
|
: ' ——— >locknuts Cable gripper
Hex nut - [ “ q D=“
I
(4] (5] T
Box cover knob— = -
g// H Driver
Lamp cord
— 5 Driver box G
Bar hanger [
— @ mI [
Cable end : [
WK R K RG-W K G- K RG> = = =
5 oo QQA oo Qq4 Nk ‘% ‘44 44 e c1<4 e <1<4 e T A T T e T T
0 4{{“’0 I AE?WPEJ{bV@zA J’VG I 4{ | PN { = R { = 5 R CARACABA AR PAASAL AR ALA LA AR AR ASAL AR AR A

Gripper end

AlconLighting.com © 2021 m (877) 733-5236 m products@alconlighting.com 2/2





